
Time: 10 Minutes Paper Math 4 (T-1) Total Marks: 10

1st Month, 2nd Week, 3rd  Day Addition and Subtraction 
Q.No.1. Choose the correct option. (0.5 x 6 = 3) 
i) The difference of 45 158 and 34 756 is:  34 756  45 158

(a) 10 301 (b) 10 402 (c) 10 709 (d) 10 302

ii) What is the difference of 55 661 and 12 255?  12 255  55 661

(a) 43 406 (b) 53 506 (c) 33 406 (d) 27 406
iii)When we subtract 27 420 from 43 729 we get:

 43 729 27 420 
(a) 16 309 (b) 18 409 (c) 19 109 (d) 17 309

iv) Solution of 97 843 - 61 732 will be equal to:  97 843 - 61 732

(a) 13 611 (b) 31 611 (c) 36 111 (d) 11 361 
v) Lubna has 12 485 books in her library. She gave 2 689 books to her friend.
How many books are left with her?

 2 689  12 485 


(a) 9 796 (b) 9 985 (c) 8 796 (d) 7 798 

vi) Ahmad bought a television for Rs. 81 450. He sold the old TV for Rs. 75
500. What is the difference?

 75 500  81 450 
(a) Rs. 5 950 (b) Rs. 6 950 (c) Rs. 4 850 (d) Rs. 3 750 

Q.No.2. Solve the following. (1.5 x 2 = 3) 
i) 63 541 -  58 463

___________________________________________________________________
ii) 99 754 -  67 584

___________________________________________________________________

Q.No.3. Saad had Rs. 52 490. He bought a bicycle for Rs. 15 873. (1 x 4 = 4)

 15 873  52 490 
a) How much money was left him? 
___________________________________________________________________
b) If the price of bicycle is Rs 18 759, then how much money will be left?

 18 759 
______________________________________________________________________________________________________________________________________
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